
10x14  Gazebo
Instructions for Assembly

Minimum 

You will receive four separate boxes for this product to be fully assembled. Please make sure 
all boxes arrived in good condition before assembling. It happens sometimes when
boxes arrive separately due to postponed carrier's shipping, and your patience is really
appreciated! You can also reach out to us at any time at  for 

VIWAT@cnrrx.net

VIWAT@cnrrx.net any questions!



�����������������������

�����������������������������
����

�����
��������	���
�����������
����������
����������
��������������������������������������������
�
������
�����������������������
������
�������
�������
�����������

����������
����
�
�����
�
�

������������
���������������
�
�
���
������
���������
���
�����
�������������������
����
�����
�������
�������������
������	�
��
�����������������������
�
��
��
�����������������
����
��������
����
����������������
��������


��	��������	������������������
������������������
�����������
��
�����������������������
��������������
����
�
�������������	����
��
�������	��
�� ��
����������������­�������������
�������������
�
��������������
����
���
�������������

�����������­
��
�����������

�����������������	������������������
������
������������������
��

�����
�����������������
�����������
������
���
�������������
��
�
���������������������������	����
����
�
������������������
����

�����
�
����
�

�
�����������������������������������
�����
�������������
��
��
����
�������
�����
�
����������
�������������������������������
��������
���
���
������	�
����
������
����������
���	����������� 
������
���
����
�������
�
�������
���������������������

���	�����������������������������������	������
���
��
���� �
��

�����	���������
�������������������
�����������������
��
����
�

�������������	�
��
�������	�����������
��������	�	�������������
����
���������������������
����
����

������������������� ���




1

15

20

201

50

128

6

6

78

4

8

2

I1

H1

6

4

4

N

4



2

4

4

4

4

4

4

4

4

4

2



3

4

4
4

4

15
14

15
14

7



4

X1

X1 X1

X1



STEP 01

STEP 02

5

M6X15

M6X15



STEP 03

STEP 04

6

M6X15



STEP 05

7

STEP 06

M6*15

D

M6X15



STEP 07

STEP 08

8

M6X15

M6X15



STEP 09

9

STEP 9-1

STEP 9-2

STEP 10

44

4
4

4

4

M6X15



STEP 11

STEP 12

10

M6X15

M6X15



11

STEP 13

STEP 13-1

STEP 13-2

M6*25

M6*48

STEP 13-3

STEP 13-4



STEP 14

STEP 14-1

STEP 14-2

STEP 14-3

STEP 14-4

STEP 14-5

STEP 14-6

M6*25

M6*48

12

15

15

14

15
14



13

STEP 14-7
STEP 14-8

15
14

15
14

14
15



STEP 15

14

STEP 15-1
STEP 15-2

M6X15



STEP 16

15

STEP 16-1

STEP 16-2

M6X15



STEP 17

STEP 18

16


